RESULTS FROM THE
LIFETIME EXPERIMENT

LAB MEETING, 23/05/2017
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Lifetime of 81 keV state at Room Temperature (296 K)
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LIFETIME OF 81 keV STATE USING NORMAL SOURCE
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Time Spectrum by D2nD4
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Time Spectrum by D3nD4
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Lifetime of 81 keV state at 38 K
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Time Spectrum by D2nD4
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Lifetime of 81 keV state at 77 K
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Time Spectrum by D2nD4

[—
=,
>
-

mean = 167.787 £ 0.034

tau= 6.424 +0.077

[—
-2
(-]
-

[—
)
(-]
-

800

600

400

200

L
170, 180
Time (ns)

1 | 1 1 | ]
?20 130 140 150 160



To Be Done:

1. Evaluate systematic uncertainties for the measurements

2. Take more data at 47 K, 57 K, 67 Kand 87 K



